December, 2009

The paper consists of two sections 
Quantitative – 40 questions 

Verbal – 20 questions

The exam is for 60mins and there is a negative marking of 0.25 for each wrong answer 

Quantitative. in this section they  covered so many topics like..coding-decoding, blood relations, age problems, time and distance, percentages, series type of questions, directions problems, analogies.  I suggest you to prepare well the concepts of all aptitude sections and verbal- non verbal reasoning by r . s . agarwal.

1. If POWER  is coded as REWOP, then KNOWLEDGE is coded as 

Ans: EGDELWONK

2. Similar question on coding-decoding.. a simple one

3. Based on rlns..A+B means A is father of B ..like wise different notations for diff relations…and finally they gave a rln ex C!D*B+A . how is C related to A? 

4. Pointing to a person harish says to sireesha, “ his mother is the only daughter of your father” how is sireesha related to the person?

5. a_bb_aab_aaa…like wise..the sequence followed is b/aaa/bb/aa/bbb/a/b/aaa/bb
6. A, DE, B, EF, C, _

Ans: FG

7. 1, 8, 2, 27, 3, _   ans:64

8. Given a series of numbers..find the odd numbers which are exactly divisible by the preceding number but not exactly divisible by the immediate following number.

9. Socrates: …….::Jesus:Cross

10. The height of a room is given. The length is thrice the breadth. If it costs 200rs to paint the walls taken, 2.50 rs/ square meter, find out how much it takes for carpeting if it takes rs 5 / sq mtr..

11. The rainfall amount decreases by 1% every year. Find out how much percent it exceeds by 2001 compared to 2004? Ans: 2.97%

12. a question on connecting roads..there are 7 road networks..T1-T7

2 questions based on this..

13. a sequence of figures are given…find out the fourth one..
14. 2 figures are given…if we overlap these two…find out the resulting figure.

15. A figure is given and find out the side view of it….

16. A person starts from his house and walks 2km straight and then takes a right turn and walks for 1km and again takes a right turn and walk for another 1km. now if he is in north – west direction from his house; find out the direction in which he has started from the house?

17. A person travels 800m with some speed and reaches the destination. If he travels 15m/sec more than his previous speed, he will reach the destination 12 sec before. Find out his original speed?

18. In a family there are 2 couples. Relations btn 5 people r given. A question on this.

19. 2 questions on age related 
20. Average age of 3 people 2 years before is 30. Now  two people are added the average remains the same. If the difference of ages btn these two is 6 yrs. Find out the age of the younger of the two.

21. 4 logical questions were asked…

Ex: If iam Keralite, I speak Malayalam. Find out the logical equivalent statement 

a) If iam not a keralite, I donot speak Malayalam

22. Calf:cow:: cub:___

23. 2 questions on syllalogims..

24. In a triangle two angles are in a ratio of 5:3 and the difference of the angles is 30 degrees. Find out the largest angle in the triangle.

Verbal
1-5.A simple conversation is given and 4 questions based on it..

2 questions on articles..
2 questions on prepositions..

3 questions on find out the incorrect statement among the four 

A sentence is given..find the opposite word for the italicized ones..

Fill in the blanks with appropriate words..

3 questions  on jumbled sentences…

Given an address. Find out the one which is incorrect

One question on …find out the logically equivalent statement out of the four..

On the whole the paper is easy. Accuracy and time management are important factors. As there is a negative marking better not to do guess work.. one can easily attempt 45-50 questions.

All the best

Aneesha
